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Q1. How many elements are there between Two and 73 in step 1 ?
— — c——

A. 8 & -
B. 7

£76 Q4. Which is the 4th element to the left of 3@ element from
D. 5 the right in step 5?

E. None of these A. 16 ()\*_2 __:@

Q2. How many even numbers are there in Step 3? C. Tnauq
A. 2 D. 26

B. 3 E. None of these
&)
B=5

E. None of these

Q3. Which is the 3 letter of the 2" word from the left end in step 4?

A O - — _— —
B

C. W

D. T

E. None of these



Q5. Statements: G

All banana are watermelon AT ol FR_GIGT %

All watermelon are grapes 'Hﬁﬁ SECK 3-Id¢I\{ g
Only a few watermelon are apple hdel chts. SECS a9 &
No apple is papaya ‘_ﬂé @_q’ q'ch;rr sTel %

ncIu5|ons Some m’g@(?)é// ﬁl’@ﬁf

All grapes can never be papaya

AII watermelon can be papaya )Q*y AT RSt qiar gl dohd &
X
%Only | follows

B. Only Il follows

C. Eitherlorll follow
D. None follow

E. Both follow



Q6. Statements: CXIr N

AllVare N Hﬁ-ﬁV,N%‘

NoGisE — ‘_ﬁéG,EF@'%—.

Only afew Eare V chd ol HS EVE ﬁﬂu !)0\5
Conclusions: IGLEDR

Some Nare G /- ?I;TSN,G% .

All N can never be (ﬁowe N @ Tt N FY G g g Ghd
M. All G can neyer be Vag 2s¢ wotb AT G HIT VAST 8 ohd ©

_— ,QW—( CS)‘ﬁxem:\’V

A. Only Illl and either | or Il follows
B. Eitherlorll follow
C. Only lll follow

/,B/Only Il follow

E. None of these



Q7. Statements:
Only a few tiger are dog
No dog is cat

Conclusions: %

a All dog carrpe tiger \//
a Wcat A
)/Only | follows

Only Il follows

C. Either | or Il follow
D. None follow
E.

Both follow @

HY. |
$hdol PG W Hal &

HIE Fell el A8T &




Q8. In a family of six members there are three females. U is the father of T. N is the mother of
J. Sis the son of C. N does not have siblings and has only one child. C has two children. How is J
related to T.

I. Tis a female. @

Il. J is not the daughter of S.

OF HEEAl & UH IRAR # et ARew 1 u, T Rar §
%l‘Na?;!ﬁ-Wﬂﬁ?aﬁTwﬁmwm%l cFHF Y a=a ¥ ), 7Y BFE IR
Tafara &2

. TTH Afger gl
1.3, T T 7@ B

Only | is sufficient
. Only ll is sufficient
Either | or Il is sufficient

. Both are required
~ None is sufficient

owp
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In a family of six members there are three females. U is the father of T. N is the mother of J. S is
the son of C. N does not have siblings and has only one child. C has two children. How is J

related to T. j
I. Tis a female.

Il. Y is not the daughter of S. 1



Q9. P to W are sitting around the circular table facing the center. U sits immediate right of S.
Who sits opposite to P?

I. R sits opposite to V and P does not sit next to W.

Il. Three person sit between S and W, who sits second to the left of T.
P@'WWW?WWW@TWWW%%I U S¥ &l e da1 81 P
¥ Rada st Yo ¥2

I.R, VF Ralia o1 & 3 P, W& orer & 1ET dar B

.S 3R W& FeT fieT =afFad 45 8, N T& 90 & g TS W FoT B

A. Only lis sufficient

B. Only Il is sufficient D
C. Eitherlorllis sufficient

57 Both are required

E. None is sufficient



P to W are sitting around the circular table facing the center. U sits immediate right of S. Who

its opposite to P? - -
Msite to V and P dies not sit next to W.
ll. Three person sit between S and W, who sits second to the left of T. ‘)




Q10. A to F have different age and weight. Who is the second lightest and second youngest person ?

I. Four persons are older than D and three persons are lighter than E. B is just lighter than D, who is not
the heaviest. A is just younger than D. B is not the lightest.

Il. D is heavier than E and F and neither D nor B is the heaviest. B is heavier than A but lighter than C. The
person who is the lightest is the eldest.

AW FHI M- 3H 3R il §1 GAU T goohl 3N g Fa@ BIET IFd FieT §?

. IR FfFd D & 73 & 3k T ==afFa £ @ &= &1 B, D ¥ FHaer godr &, S aH A ST B
A, DH 8 BT g1 BUSH ol Al gl

I.D, E3RFI AN g3k T A D3k a7 & B 5w ol 81 B, A ¥ oy § AfFeT ¢ A goar 2B
AGY ol afad g3T &

A%\Iy | is sufficient

B. Only Il is sufficient

C. Either |l or llis sufficient
D

E

Both are required
None is sufficient



A to F have different age and weight. Who is the second lightest and second youngest person ?
|. Four persons are older than D and three persons are lighter than E. B is just lighter than D, who is not the
heaviest. A is just younger than D. V is not the lightest.
@D is heavier than E and F and neither D nor B is the heaviest. B is heavier than A but lighter than C. The
erson who is the lightgst is the éldest. o - i
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Q11. Pihu is standing in a horizontal line of 30 persons facing all north. What is the Pihu’s position from

the left end ?
l. Ritu is standing at the 7" position from the end. Pihu stands 12t" to the left of Ritu.

Il. Not more than 10 person are standing to the left of Kajal. Kajal is standing at the 6 position from the
end. 11 persons are standing between Pihu and Kajal.

dig 30 fFadl #i v+ afasr @ # ¥l 3w AT 3N 37q@ @ @I gl 9I¢ SR § dIg H
TAT &1 872

LR 3d ¥ 79 T W T g i, w*m#uawmw%l

I FToT & 9 10 ¥ A0F w3 & @3 gl FeE AT ¥ T8 T W @I §l Ny IR
Fod & o 11 <FFd @2 ¢

A. Only lis sufficient
B. Only Il is sufficient
S Either | or Il is sufficient

D. Both are required
E. None is sufficient



Pihu is standing in a horizontal line of 30 persons/facing all north. What is the Pih(u’s position
from the left end ?

|. Ritu is standing at the 7*" position from the end. Pihu stands 12t to the left of Ritu.

@Not more than 10 person are standmg to the left of Kajal. Kajal is standlng at the 6" pOsition

rom the end. 11 persons are standlng between Pihu and Kajal. . . —
— P = w @ é ) %

— | — /rQ “(ﬁ 30p




Q12. If in_the number ‘912867534696578267988924679542’ the digits at thelodd position
from_the left end are decreased by 1 then how many such digits are there which are
immediately preceded by an odd digit and immediately followed by an even digit ?

afe TEar '912867534696578267988924679542' & s sR & Awsw Fufa & 3=l
1 F ger A Jmar &, O W fraar 3 & B9 S yga v fawe 3@ § 3R
&F 91 H UH WA 3F 87 ~A T =

A. 4
B. 5
oo @ 2118 5343

3
yMore than 7 “; “\/




FT UHE T Tl AT F 91T 7 8T or &1 v 3R 3
AFd doT g1 P F fAchedd ISRl &l oo 3R ool $5A 98 g1 dg Fied o foel
PISHA THG g, T, o Tad e §, & deTel H T §l S 3R UH ool THSG AT ol S I Fhe
1992 3 feeoll HISH Y&E =gl &l

\/



P to W are sitting around the square table. Four of them are sitting at the corner facing the center and
@Lthem are sitting at each edge facing away from the center. Each of them like different web series
i.e. Panchayat, Maharani, Delhi Crime, Gullak, Avrodh, Kota Factory, Scam 1992 and Asur. Q sits third to
the right of R and one of them like Kota factory. U sits to the immediate right of the person who likes Kota
factory. The person who Iike_siScam 1992 does not sit next to and opposite to the person who likes Gullak,
Panchayat and Delhi Crime. Q does not sit opposite to P and nor faces the center. One person sit between
Rand S. The person who likes Asur does not sit next to the person who likes Maharani. One person sit
betweenl and the person who likes Asur. Immediate neighbour of P likes Gullak and Delhi Crime.&

person who likes Delhi Crime sits next to T, who likes Panchayat. S and U does not like Gullak. S does not

—_—

like Scam 1992 and Delhi Crime. —







Q13. Who sits third to the right of the person who likes Panchayat ? Q16. Who sits opposite to the person

A. W y.olikes Kota factory ?
BV =

\"
C. Q B. R
D. R C. W —_
E. None of these D S
None of these
Q14. What is the position of W with respect to the persotho likes Asur
A. 6% to the left 17. Fmd the o ?
B. 5t to the right " -\0‘\"'\? 1‘1\“ ___a_n.cha-yab‘ah) e

Q
C. 2" to the right / _a Cowex
rd
D. 3" to the left _Maharant = ¢ Q@ ___
wne of these D

ﬂmﬂh— = edd) p
Scam 1992 __ >y g,
Q15-Which of the following statement is true ?
V who likes Delhi Crime sits to the immediate left of the person who likes Maharani.
Q likes Asur
sits fourth to the left of the person who likes Panchayat

ore than one is true _
one of these
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aforar s arer died ﬁw@%ﬁwwwﬁl SIRT §1S aTel §igd 3R ol W1 & died

% &g ¢ digd W T g1 i o8 arel digq 3R ST 311 & dieq & o af diad W 0

&1 J[elel WM 1 il X W & iy & Sl I @M 37 gl LToR oS arel Siord &l CIAT
SIS aTel §lad & A (@M IR”T g, S & prel [T &1 ST &1 F 1T & dig J IN

1S oTel &l 99 dfeq & A5H

S § 39 IRT §ig g & IR @T 337 ¢, o8 Jdie g2 dieg & FuT @1 =7 T

3
g%
3
2
*
%
:




Eight boxes are placed one above the other. Each box is of different colour and contains different brand of t shirts. Two
box are between the box which contains Tommﬂ'fh‘iger brand and blue coloured box. Two boxes are placed between the
box which contains Celio brand and white coloured box. Two boxes are placed between the box which contajns Nike
brand and the grey coloured boxme placed between the box which contains Wrangler brand and the blue
coloured box. Puma brand is in the white coloured box which is placed above the blue coloured box but not just above.
Two boxes are placed between the box which contains Adidas brand and the pink coloured box. The box which contains
Adldas and Celio brand are placed adjacent to each other. Two hoxes are placed between the box which contains Zara
“brand and The red coIoured'm_mé_b_Qxes are placed between the box which contains Reebok brand and purple
coloured box. Il'ipm_gojoured box is placed just above brown coloured box. The box which contamsﬂmglir brand is
placed below the box which contains Tommy hilfiger brand, whﬁ@md_ng. The grey coloured box does not
contains Zara brand. Thw_ntams Nike brand is placed above the Zara brand box , which is placed above the

————— —

Reebok brand box. -
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Q18. The brown coloured box contains which brand ? Q21. Which coloured box is placed above Zara brand box

A. Nike but not just above ?

B. Zara A. Pilnk
B. Blue
bok

1=

E. None of these 3

None of these dea
Q19. Which brand box is placed above the purple coloured box ? .
A. Adidas Q22. Find the odd one out ?
B. Celio A Whit€ Tof Tommy hilfiger
C. Zara ‘ ) B. d/-séllo
P=Puma \ C. N'k@i’é"ﬂ C
E. None of these D. Reebok, Grey \
E. Adidamrple
Q20. How many boxes are placed below red coloured box ?
A. None
B. 1
C. 2
D. 3

\

one of these



A to L are sitting in two parallel row such that six persons are in row_1 facing_south and_six of them are
sittinwz_facing north._Persons sitting in row 2 likes different fruit i.e. blueberry, pineapple, papaya,
grapes, app/le and banana. Persons sitting in row 1 likes watermelon.Esits to the right of J._E likes papaya.
C does not like blueberry. G sits third to the right of H. The person who likes banana sits to the immediate
right of the person who likes blueberry. |, who likes pineapple sits third to the left of F, who faces A. No
person sit’tg the right of the person who likes grapes. D who likes apple sits second to the right of C, who
faces L. - = -

=\






Q23. How many person sit to the right of the person who likes apple ?
A 1

s (¥

D. 4

E. %;ne of these
~>faces the person who sits third to the right of the person who likes banana ?

a—

LA

E. None of these

—

O w>P
® > 0

—— ce—

|
(N4
Q25. The person who likes _ faces the person who sits second to the rigﬁ? of B?
Mueberry

Papaya

Apple

Banana

None of these

moOw



Q26. What should come in the place of (?) in the given expression to make D > M always true ?

foU 90 O H (?) & TAH W FAT 37T AT aifd D > M gHeT I &2
L=B<D?E=C>0=N>M

<A

> &
2/4
Ether>or>

None of these
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A ¥ G AT §g § T8 gl AR 319 9 deh 9gdel & folv el &1 98 f§g A & 3
feem & s %@Tﬁﬂﬂ?ﬁ%lﬁﬁéﬁﬁa@'ﬁgquﬁ?ﬁ%lﬁwa@ﬁ%cwqﬁﬂﬁés
folw 3o qd &1 3T 730 ol ®1 fig c W g af@ionad feuit # 90 f2al sl § 3R &g oI
TETe & foT 14 #ex gerd &, o B%qﬁﬁm%lﬁgoﬁa‘é g £ W g & e
3o fgem #r 3R 73 e €1 f§g £ ¥ a5 afaronad fem 7 90 faf #sch § 3R g F O
U & fT 9 A e &1 F @ 98 90 e amad e #F wHsdh ¥ 3k Rig ¢ W ugwa &
T 4 3 9ach §1 6 & a§ 3d # aferomad f&em 7 90 f3ah Fach & 3k 6 3 & a1 3=

QA'to G areiewthrough which Maya passes to reach her destinatign. She walks in a straight line
rom point A in north direction. After 7m she reaches point B. Then she walks 7m towards north east to
reach point C. At point C she turns 90 degree in clockwise direction and walks 14m to reach pgint D, which
is_towards east of point B. From point D she walks 7m towards north direction to reach point E. From
point E she turns 90 degree in clockwise direction and walks 9 m to reach point F._From F she turns 90
degree in anticlockwise direction and walks 4m to reach point G. From G she finally turns 90 degree in

clockwise direction and reached her destination after 6m.
/







Q27. What is the shortest distance of point B with respect to Maya’s destination (Approx.) ?
A. 28 —_ I X

B. 25

C. 38 < j '

@// ‘
E. 27

Q28. If from point E, Mays turns 90 degree in anticlockwise direction instead of turning 90 degree in clockwise direction
and walks 9m. She then turns 90 degree in clockwise direction and walks 4m. Finally she turns 90 degree in anticlockwise
direction and stops after ﬁm, thinking she reached her destination. What is the shortest distance between his current
position and his original'destination ? =

Ife g £ @ #rr gf@omad Rer 7 90 B 73 & aomy 90 RBaft amwract faem # Az ¥ 3y oAt =er B
6T a8 afdiomad faem & 90 Raft Asch & R4 A gorch ¥l 3a F gw o A RAolia Rew F 90 B ays<h
g AR 6 M & v 3 ST §, g WA F 97 IR IAeT W UgT I §. 39 adHe Rufy sk 3w

TS i | Pruaien]

Q29. Point Cis in which direction with respect to Point F ?
A. North-West
B. North-East
C. South-East

%outh-West

E. None of these




AT T Teh GiFd H 30 YR 83 8 fob d 30 17 & IR 96 §, ot 9fFd & & s @
3T JUIATT STl & SEIAR AT 38R g1 307 & FT 1 G 3R H IR § o
dolel 3TeET-37cldT & HATT 61, 65, 66, 68, 72, 73 3R 76| 3dfdA BR W & <Ffdd &1 AG
A feum #1 3R &l g q9d R »iFd AR A T gooh TiFd T G FA e

IR & IR 3A% ST AT § FF IFd 98 &1 g TIH gooh hiFd dI AW IR H 3R gl
I FE8 gohl AP 3N oI A AfFd v € foer i 3R 3oq@ Bl el & afFaar
%W%a‘rw@%wﬁaﬁéﬁsﬁl Ueh cIfdrd dral
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A9 ool cTlod a8 goh cAFd o dleh a1 ST gl P & STl &
133 §1 P % Forar & ¥ =T P 3




Seven persons are sitting in a row such that they sit accordlng to their names, which are seven consecutive
Ietters of the English alphabetlcal series from the rig right end of the row. Same of them are facing north.
Each have different weight i.e. 61, 65, 66, 68, 72, 73 and 76. The person sitting at extreme ends are facing
same direction. ‘Sﬁgggd heaviest person and(fgurth lightest person are facing same direction and less than
three persons are sitting between them. Second lightest person is facing north. Third lightest person and
tlﬁhﬁﬂgﬂ person are facing same direction. Sum of the weights of any two persons is equal to 138 are
not sitting next to each other. One person sit to the right of the third heaviest person. UJ.I.I'.d.lILﬂIESt
person sits to the immediate left of the lightest person. Sum e weight of the person who sits next to P
is 133. Persons sitting next to P are faciwgite dire:t—i_c?-rfi_:l:co that of P. Second heaviest person sits
second to the left of heaviest persons and they are facing opposite direction'The person who is lighter
than only three persons sits in right of P. P does not sit near to the one whose welght is 68.

B,







Q30. Who sitting 3™ to the right of the one with lowest weight ?
A. The one whose weight is 72
[? The one whose weight is 76—
(0]

@ N—
% than one is true

Q31. Find the odd one out ?

A. 68389
B. 65

C. 76

D. 72 \N"

E. 61

— —— ——
Q32. How many persons sit between the 3™ heaviest and 2" lightest person ?

A. 3

B7) 4

;/As between S and N

D. AsbetweenP andR
More than 1 is true




Q33. Who sitting 2'P to the left of 4t heaviest person ?
A. The one whose weight is 73 o -
The one whose weight is 61

-2 6
. Q
More than one is true

Q34. Which of the following st%tament is true ? < i _ )

A. T sits 2" to the right of R
B ~Second lightest p )son sits immediate left of S

’'s weight is 737
Q’s weight is 11kg less than 0=
ore than 1 is true
- (7

Q35. How many persons sit between the P and 3™ lightest person ?

A. 2~

2”1

%As between R and T
D. Asbetween M andO
E. ~More than 1 is true
<




